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(Question): Cloud computing is... 

 

(A): an architectural style 

(B): an IT delivery model 

(C): an IT presentation model 

(D): Transitional model 

 

(Correct): B 

 

 

(Question): Which one of the following would be the responsibility of the cloud 

provider? 

 

(A): Defining SaaS needs 

(B): Business Process Validation 

(C): Unit testing of cloud services 

(D): Obtaining stakeholder commitment 

 

(Correct): C 
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(Question): Which three of the following are characteristics of cloud computing? 

 

(A): Cheap or free access 

(B): Broad network access 

(C): Rapid elasticity 

(D): On-demand self-service 

(E): Consistent availability 

(F): Ease of Installation 

 

(Correct): B,C,D 

 

 

(Question): Cloud Computing is based on which architecture 

 

(A): Object Oriented Architecture 

(B): Customer Service Architecture 

(C): Client Supplier Architecture 

(D): Service Oriented Architecture 

 

(Correct): D 

 

 

(Question): True or False: Cloud computing is a model for enabling ubiquitous, 

convenient, on-demand network access to a shared pool of configurable 

computing resources. 

 

(A): True 

(B): False 

 

(Correct): A 
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(Question): True or False: Resource pooling is not a characteristic feature of Cloud 

Computing. 

 

(A): True 

(B): False 

 

(Correct): B 

 

 

(Question): True or False: Cloud Computing is Expandable on Demand. 

 

(A): True 

(B): False 

 

(Correct): A 

 

 

(Question): Which type of service benefits from economies of scale achieved 

through versatile use of resources, specialization and other practicable 

efficiencies? 

 

(A): Business Management 

(B): Software Service 

(C): Supply Chain 

(D): Cloud Computing 

 

(Correct): D 

 


